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2CO(g) + O,(g) — 2CO,(g)  AH = —566.0 kJ
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2NO + 0, —> 2NO,
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A3 J o) (e 1g B0 A bl da U1 B 1 al) Agas o)l ne

2.44 J = 4y uluw 3aa) g
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qg=cXmxAT
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iiall 138 A aa g cal aS$.124 Cal o alakall cilial aaf (g giad
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124 Calories x 1900 calories _ 45, 600 calories
1 Calorie
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0.5720 Kcal WA Jaia dulas (2 dualiaial aly d3ual) pa Yoea as
¢adllal) e

0.5720 kcal x 1000 ¢cal . 4.184J _ 5 393

1 kcal cal
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@) oo il . Gl ) A8l Bale ddua gr J silLY) Jartion
= A8l oda jlala La, 4B (4 1367 KJ J$E¥) ¢ 1Mol
¢ Cal

\

1367 kJ x 1000J . _1cal 1 Calorie _ 357 calories

1kJ 4.184 ) 1000 cal

ﬂﬂlunnﬂnn 3y Juls N7 T o9l da | folas) EM




[ 82 | 4aia wjiall qilis])

A a3l K a8, ABUall (e 656Cal a3k Lisal) ¢ 2.00g il
¢ L ga¥) (e Lgud ATiSH)
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4.184J 1 kJ

Tl < 70001 - 274K

656 cal x
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sdd laka La , 48Uall (e 326.7 Cal Bl SN ¢ Imol & _sial
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1000 cal y 4.184 ) y 1 kJ

1 Cal Tl X 70007 — 1367k

326.7 Cal x
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G 3 ) ad) (e 250 Cualial A (1 £ gluan 250 43lS L
¢ Al Ao i) 5,1l e, 78°C M) 25°C (e Ll a da
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q 250 J

T M xAT 2509 x 53.0C

= 0.189 J/g-°C
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Ay gla (Al Joli L8 datiaal) o) dadlil) g 31 ad) daS (<0
T AH Al g siaal) 8 panll

Cull b a9 jaa sle g A Je i) Al Laaie
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¢ ol g d&ﬁﬂ\d{éeﬁm dailassl) dialsl) ABUal) e St U

\

Je8 Auiliaxsl) dlalsl) ABUaY) (e JB) Jolitl) day dgiliassl) Alalsl) 48U
Je L)
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¢ 3l all Hala Jeldily ¢ 5 ,all 3 Ua Jeldit AH 5 L) La
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Al Wi L&) S B iall 3 jUa Jeldit AH

daa ga g LE) oS 3 all Lala Jeldit AH
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Oa WgEIoA Aa L Ladie <l jadl (e 3580K g kiS5 ) jadl e J Y g aS
. 0.803J/g. °C (& il pall 4o 5ill 5 all € -12.9 °C (1 41.2°C

AT = 41.2°C — (—12.9°C) = 54.1°C
qgq=cXmxAT

Qgranite = [0.803 J/(g-°0)](3.58 x 106 g)(54.1°C)

= 1.56 x 108 )

\ S
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23.70m e UL 20mx 12.5mixlis (5 o ¢ s dn Lwd ) (o9
DU 31 A S L 18.40°Caslunll o slad)l > do s oS 13
1.000 g /ml = Ul ists 929.0°C 1) a5l > ix s =

\

volume of water = (2.00 x 103 cm)(1.25 x 103 cm)(3.75 x 102 cm)
= 9.38 x 108 cm3 = 9.38 x 108 mL

mass of water = (9.38 x 10 mL)(1.000 g/mL)= 9.38 x 108 g

g=cxXxmxAT

= [4.184 J/(g-°C)]1(9.38 x 102 g)(10.6°C)
=4.16 x 1010 )
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LA Aa g cala i 1) 44.7 g WAiS (alia ) dakad Lguaiad Al 31 ad) das L

¢ 65.4°C i

\

qg=cxmxAT
= 0.129 J/(g-°C) x 44.7 g x 65.4°C
= 377
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a5a dasa adyl 3,34 KJ iy 83Ma A YISl <) (e 10.2 g pday
£ Y i<l cu 3 Ao ol 31 Al e, 196.4°C M) 25.0 °Coxe

\

AT =T,— T, = 196.4°C — 25.0°C = 171.4°C

g=cxmxAT

c = q 3340 )

= = = 191 J/ 'oc
mx AT 1029 x 171.4°C (9-°C)

J
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Cualid ¢ a4 L slall 0 125 g (2 58.8 g WALS ASuu cauda g 1)
iy elal) 31 ja a3 candli ) Lady ¢ 106.1 °C ldbay Al 3 ) o A 2

¢ Al de oil) 340 all Ld ¢ 10.5 °C

qgq=cxmxAT

Quater = qalloy

4.184 J/(g-°C) x 125 g x 10.5°C = Cy,, X 58.8 g x 106.1°C

c (4.184 )/g-°C)(125 g)(10.5°C)
alloy ™ (58.8 g)(106.1°C)

= 0.880 J/(g-°C)
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£l Lyl , 3.22 kJ/MOI A Jsitisall 43 ¥ sall Jlguai¥) 340 a
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3.22 kJ = Jsiy) calmol sgeal 4a D) 3 ) jad) dgas o el ina
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. Oliad) glmay Ay ) dsilal) Aataal) i

CH,(g) + 20,(g) — CO,(g) + 2H,0(l) AH = —891 kI
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DA A U 3 ) ad) daS bl VALY JSAD) LB 3a ) o) cila glaally Cpaiad
. 100°C 8,/a 43 ais slall (e 4.33mol

————————— 2 TROE

:i AHyap = +40.7K] g = mol x AH,,,

)

—1& AHcona = —40.74] g = 4.33 mol x 40.7 kJ/mol = 176 k!
_________ i __"Hzo(l) e

AHfus == +6.01 k]
&Hsolid = —60‘1 k]
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T80 Al (e 4560k (3l (S 81 gdia A g8 A g (A CoHg clagl) AL Le
-2219 kJ/mol s AH . Gl daulidll @) Aal) 31 s ol Lale

\

4560 kJ
2219 kJ/mol

moles of propane = = 2.055 mol

2.055 mol C,H, x 44.09 g C;Hg/mol C;Hg = 90.60 g

("% Education RIPINTES T TR o3l dammo T [olas] K=l




[ 82 | 4aia wjiall qilis])

Cr92 8 ALS dued LS 1Y) aadl) (1a5.0kg (@) Aa) die Gl Al B ) ad) 4sas La
AH oy O Lals € ol Y andl) Lgy gy (Al AV ) gall § 96.200 4
-394kJ/mol b G5 s

\

1000 g

m =m X 0.962 X

carbon coal 1 kg
— (5.00 kg)(0.962)(1 22 9) _ 4810
1 kg
1 mol
|C=4810g C X = 401 | C
mo 9% *T20gC moe
qg = mol x AH__

q = 401 mol C x (=394 kJ/mol C) = —158,000 kJ
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da ) die Jilw sla ) sla A 12550 SS (e (gllaii Al B ) ad) daS La
¢ 100°C 3 a

\

1 mol y 40.7 kJ

= 2830 kJ
18.02 ¢g 1 mol

1255 g X
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gl da 3 die culiat Ladie ) ad) (e 566K J Lisal) (e dle cidthi 1)
(AH ., = —5.66 klJ/mol) ¢ 4ial) ALis L

é A

Mass = mass of 1 mol ammonia = 17.03 g
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3) gall cilpaS cude L 1) 4y i s dailuasS Aalaa A AH i (S
¢ ddalaal) Cuuse g il e EDE Lgasan

L La) i g Cilad) M AH 4ad sl
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¢ leliall AH luzs Lo .C(s, 1) — C(s, 3! 2)
C(S, t.:...:.!'l_).:i-) +02{g}—rC02{g] AH=-394k] .a
C(S, W) +0,—CO, AH=—396 K] .b

Jo Ll A ) jat) ALl Aaleal) Slay iy o ad) bl cpitilaal) g a0 98 Janind

C)'Z(z(g) — C(s, graphite) + 077[,9/) AH = +394 kJ
C(s, diamond) + %g) o C%g) AH = -39% kJ

C(s, diamond) — C(s, graphite). AH = -2 kJ

N
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